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2. (a)

(b)

(a)
(b)

4. (a)
(b)

Let (T,} be a sequence of estimators such that
forall 8¢ @ :

(i) Eg(l,) 218 as n 5=

m:w ﬁgv%t <30 as -y

Then 5 isa gi;%mm estimator of Amw

A random mﬁ%ﬁ? mxw Xy, X3, X4, X5) of size 5 is
drawn from a normal wamammmm with unknown
mean . consider the following estimators 1o
estimate 411

Ky + Xy ymmw 4 X 44 Vmw

Gy =KXy,
2
(ifl) #y = 2+ yw ks where 2 is such that

t41s an unbiased estimator of p. Find A . Are

fy and f, unbiased ? Stale giving reasons, the

estimator which is best amoung #; ,t, wmm by
UNIT -1

Find the maximum likelthood estimate for the

parameter A of a Poisson distribution on the basis

of a sample of size n. Also find its variance.

Explain the following Terms

(i) Null hypothesis and atternative hypothesis

(i) Typeland Type Il errors

State and prove Neyman - pearson lemma

Let xy N(p, u), p unknown. To test Hy :p=-1

against f,: p=1, based ona mwgﬁ? of size 10

from this population, we use the critical region

(2)

B, (a)

()

(b)

7. (a)

In a sample of 1,000 people in Goa , 540 arc i
caters and the rest are wheat eaters. Can
Cassume” that both rice and wheat are cquall
The guaranteed average left of a «wnﬁ: type

deviation of 125 hours, Tt is decided to sample

Xy 219 4.0+ W0x0 2 0. What is its size 7 Wh
is the power of the test 7
UNIT — 1l

popular in this statc at 1 % level of significance
nmwnga light bulbs is 1,000 wcﬁy with 4 stand

output so as to-ensure that 90% of the bulbs do ne
fall %@; of the guaranteed average by more thalf
2.5%. What must be maximum size of
m%zwpm ?
In a survey of buying  habits, 400 womg
shoppers are chosen at random in super market 'Af)
located in a certain section of the city. Theif
average weekly food expenditure is Rs. 250 with!
a standard deviation of Rs. 40, Far 400 women
shoppers chosen at randon in super market 13 inf
another scction of the  city, the average weekly
food expenditure is Rs. 220 with a standard]
deviation of Rs. 55 Test at = 1% level  off
significance whether the average weekly tood!
expenditure of two population of shoppers aro
equal.
‘What are Applications of Z- transformation,

UNIT - IV
A sample analysis of examination results of 200
MBA's was made. It was found that 46 student §
had faited, 68 secured a Ifrd division, 62 secured
allnd division and the rest were - placed in tirst

(3) P.T.0.




